BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

10%

2x10° 5%x10°

10

10 100

1

10*

1000

X2/ (410304—4944)=1.040
e S A

BIC 485654.75 ABIC 0.000 AlogP 0.0000 ]
s X% 421755.25 Ax* 0.000 AlogP 0.0000 -

_,
3

N
(o]
(@X]

X%/ (410304—4944)=1.040
—

E LA R -
F BIC 485654.75 ABIC 0.000 AlogP 0.0000
e )’(2' 4721755.25 'AXZ 0.000 ‘AlogP "0.0000 3
= 4944
R R R L R R -
E., . v P S S S S RS S L R I

Fe2 3062927% 125+252 km/s
BLR 5620 NLR 900 km/s

o | —_— B — ~- _ - — 1

30 iterations

BIC

BLR

NLR

Fell

kdh1 14-0ct-2021 21:25



